7/14/22, 4:20 PM

Andhra Pradesh State Council of Higher Education

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Physical Science Urdu 13th July 2022 Shift 1
Duration : 120
Total Marks : 150
Display Marks: No
Share Answer Key With Delivery Engine : Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

1127



7/14/22, 4:20 PM

General English
Section Id : 264490600
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449018272 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449018273 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449018274 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449018275 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449018276 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449018277 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides
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s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449018278 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449018279 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449018280 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449018281 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449018282 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449018283 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449018284 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449018285 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed
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3 had departed

, » have departed

Question Number : 14 Question Id : 26449018286 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449018287 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed
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have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449018288 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449018289 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449018290 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449018291 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449018292 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449018293 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449018294 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449018295 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449018296 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449018297 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490601
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449018298 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
S thlbruns Sl gt Ll ﬂ-"” PLS? s
Options :
March 6

& A6

January 14

g2 14

2. %

September 8

A8

3. %
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November 11

v 2411

Question Number : 27 Question Id : 26449018299 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a

& Lo

Options :
Network
| % _-'I/.-r'.!‘d'-:"'

Network of Networks

~

o . e .
orer2 ) e

2. %
Software
a2
3.8 =
Server
J!/"
4, %
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Question Number : 28 Question Id : 26449018300 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’s capital shifted from Calcutta to Delhi?
?gy/uwbgﬁ e ol 3 W1 sE I 2

Options :
1935

1900
2. %

1911
3.¢

1929
4. %

Question Number : 29 Question Id : 26449018301 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MQOOC stands for
i MOOC
Options :

Mobile Open and Online Course

. AL ST Sy
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Massive Open Online Course

ur;,!'/uf UeITeLatat

2. ¢
Media-based Open Online Course
AL VST d 4
3. %
Machine-based Open Online Course
U u{ffﬂ T ol drt o
4. %

Question Number : 30 Question Id : 26449018302 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo’'s abdominal pouch is known as
_u[}':ﬁ.,:.fffd#%iuﬁ
Options :
Placenta Pouch

LE?L‘%"’L&

1. %
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Guttural Pouch

Nalt

Marsupium

[‘H‘"fi JL

3.¢¥

Synovial Membrane

G0

4. %

Question Number : 31 Question Id : 26449018303 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.
%-@;L@f{ .ﬁ_,":‘.’ii-ig_&.ﬁ-lZKH!fjé"Jf:_u;-Jwgu@;”ﬂ;;-dnrﬁj_q

Options :
w120

, o 200

140
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4 150

Question Number : 32 Question Id : 26449018304 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of

# . - T ) S
b aAal o i Te e S s

Options :
King George
v ;_',ul?-._-é/
Lord Mountbatten
S
2. %
Queen Elizabeth
sk
3, %
Lord Macaulay
sl
4, % 2

Question Number : 33 Question Id : 26449018305 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The book “Origin of Species’ was authored by
_Lﬁﬁwifaﬁu’ﬁff_ﬂueﬂq
Options :

Charles Dickens

I e
1. % ¥

Charles Darwin

c)ﬁ;ljufJ;%

2.9
Charles Babbage
B e

3. % .

Charles Lamb

U e

Question Number : 34 Question Id : 26449018306 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
,f"L'b/l_f,:!:LJ:LL!v_‘.flg-ﬁufufu:?;'ilﬁff.‘,}u)t

Options :

221127
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SARS-CoV-2
1. ¢

SARS-Covid19-2

2.
Cov-SARS-1
3. %
SARS-Covi-D2
4. %

Question Number : 35 Question Id : 26449018307 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927

'E“r@ ,J._)f ._b.:fﬁlfl.f_ifﬂ;!jiﬁ')d?ut‘: 1992

Options :
DadasahebPhalke

iL{j_‘ﬂLﬂfﬁJ

Satyajit Ray

L-J:-:.::_L;""
2. ¢
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Aparna Sen
by
K B

Rituparno Ghosh

L% Uﬁﬁ-{‘; o)

Question Number : 36 Question Id : 26449018308 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
GES 23 Ut & k202205

Options :

Question Number : 37 Question Id : 26449018309 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Who is considered the inventor of World Wide Web (www)?
‘e L:,l:r":u;r!"s’.f:;iﬂ:ﬂ;: (www)
Options :
Tim Berners-Lee

- J—u"/'f(’

Bill Gates
A

Larry Page
EéA

3. %

Jimmy Wales

Pl

Question Number : 38 Question Id : 26449018310 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
o re Pt/

Options :

251127
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Lawn Tennis

u"gu‘ U

1.¢
Billiards

2. % i/‘%'
Chess

3. % 6/!?‘}
Basket Ball

L Juaty

Question Number : 39 Question Id : 26449018311 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The SardarSarovar Dam is a terminal dam built on the river
‘-"\:.fkfﬂpf.,.diu’"'ﬁﬁ;@J’:}_{Iﬁj;j;f;l;/
Options :
Sutle

L
1. ® é’
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Ganga
gtl:.-

Narmada

Il‘
3 S

Brahmaputra
4. % LRy

Question Number : 40 Question Id : 26449018312 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 20227
S VUBSS ,62022 ey

Options :
Covid and Planet

| % !J__L:H,-'J'Ij!!(
No to Pollution

. S ol

271127



7/14/22, 4:20 PM

Sustainable Living

=

a -~
O AINN

3. % o

Invest in our Planet

. .fg' , R

GBI A e
4. &

Teaching Aptitude

Section Id : 264490602
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449018313 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a
- - r,- & - I____. :
L&UJQ}&J‘U ;Eur!utfd :r-"ll.ﬁ;-/ e
Options :
supportive classroom climate

- AL =tz f
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good learning environment

2. Jﬁw/ét‘{'

activity-based classroom

% :’iu”/&{-@f/

3.

joyful learning experiences

:,L:/,"E.*ﬁfﬂﬁﬁ

4, %

Question Number : 42 Question Id : 26449018314 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the
school is

eSS LW A LUl it FIzt L
Options :

Upward Communication

S B s

1. %

Downward Communication
L):;Lj'.!j
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Horizontal Communication

Grapevine Communication

. FEH

4.

Question Number : 43 Question Id : 26449018315 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
Wt UL Lo gt Lo s LW

Options :
awarding good marks

| % L?_;J:.Jﬁ"(i'i!

handling special classes

5 % L’;rT’U'?FE/JJLElfr“:;

helping them solve their problems

ki TS S
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giving learning materials

o/ A1 ol Sk
4. %

Question Number : 44 Question Id : 26449018316 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The best way to maintain discipline in the class is to deal with the students
LIS A LWL L LS ) o Srmslan S
Options :
affectionately

strictly and friendly
:r!JJKJ!JJ!IC'f

2. ®

strictly and authoritatively

xS oS

politely, but firmly
P -0 T o

Question Number : 45 Question Id : 26449018317 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
ﬁﬁ!g’j;;
Options :

Teacher's Knowledge in the subject

% %%FL;&JUU«*

Teacher-Student Relationship

v :-:’..JKH;-:-*JLE'JJ’J.JA

2. -

1.

Teaching Techniques

e
e St

3. %

Technological Aids for Teaching

e LS As

4, %

Question Number : 46 Question Id : 26449018318 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by

Fi..by/gé. Litivfes L?.n/
Options :

32127
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lively student-teacher interactions

e Ol S g s
B F e

advanced technological gadgets

LTugf d. ":—-JJUiF'

2. 8

pin-drop silence in the class

3 % J:“'L:"ug[:u'::.-%ﬁn/

high-cost infrastructure

L A PEES

Question Number : 47 Question Id : 26449018319 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should
—o!?ﬁ:.%'ﬁJJJC«r_ ";.LE;(;!
Options :
control the class effectively

E S e i dasan )
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correct the test papers and assignments strictly
e s éL?Jui‘(‘ LJU:!U",;_::E-._".#.::

2. %

handle the classes humorously
PP | 15510

motivate the students to learn

SSipber Sb L S

Question Number : 48 Question Id : 26449018320 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary purpose of punishing a student is to
_ﬁ.—xﬁz’djﬁb’%;!f:r’(};@&_g
Options :
show the teacher’s authority

G635 s St

1. ®
correct the offender

[
. L'ILUJJ["/?
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threaten the other students

L‘!;h@bgf’u

enforce discipline in the class

CSFG Loy Sreslzg )

4, %

Question Number : 49 Question Id : 26449018321 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
e bt /U et 6 ﬁ;rﬁuﬁ‘.uf" S

Options :
make his or her teaching more interesting

| % f_.ﬁ,f:_.ﬁmu;/u': Jodk

teach with real life examples

Sord Lyl SuE

2. %
attempt to find out the reason for lack of interest

LT S0 B= (4
3.9
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teach with stories and songs
u:flﬁzﬁ' LUy L;#/
4, % ’

Question Number : 50 Question Id : 26449018322 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from

_g,ﬁﬁagc.cjid/}’;.w;.ﬂggxg J;‘JJL;’)".VJJ,h
Options :
Students

N

1.v

Fellow Teachers

XS L

Senior Teachers
&

s XA Sy

Principals

k—:JJ

L
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Physics
Section Id : 264490603
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 51 Question Id : 26449018323 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of curl grad f where f= 2x* +3y"+47% is

3y2+4z2+ 2x2=fUlz bsloAS fAl)S
Options :

i Ix-6y+8z

4xt — 6yj + 8zk
2. %

L]

Question Number : 52 Question Id : 26449018324 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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If *S” 15 a closed surface enclosing a unit volume and be capable of being oriented. then the

. . — . - ~ - - . . 3
magnitude of the surface 111teg1‘alfs r. fidsiswherer = xi + yj +zk and n 1s unit normal to S.

-
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Options :
1
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Find the velocity of a bullet of mass 5 grams which 1s fired from a pistol of mass 1.5 kg. Therecoil

velocity of the pistol is 1.5 m.s™.
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i = L
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45ms?t
1. %

450 m.st
2.9

45 m.st
3. %

4m.sl
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Theoretical limits of Poisson’s ratio lies between
L - r"‘"’f J; P - I.-"" 0
Ll Ll oL AL ALy

Options :
-0.5and 0

0 s+ -0.5

1. ®

0 and 0.5

0.s 0,5

2. ®
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-1 and 0.5
(1
o 0.5 2 =1
-0.5and 1
1 -0.5
4. %
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A rod of 1m length is moving along its length with a velocity 0.6C. Calculate 1ts length as 1t isto an

observer on earth? (C=Speed of light)

.-' _,,-' : | 1 S
I,,__r'r‘lu.-v Ii:—-'--"‘ 9 U"’" I.fu‘.r'--n- J.a — ]G-IJVJQ U 60427 L‘i—-u'r‘u L,-Li"--t[d" -J"!r"," 1
= il
-
Options :
1l m
1
1% 7
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/-8
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0.8m

/};“‘* D . 8

3.9
0.1lm
~0.1
4.%
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The relativistic equation between total energy and momentum :

-

- { - | } | § .

Options :

E= MyC+PC
1.

E=.,/M,C+PC
2. %

E2=M,*C* +P2(2
3. ¢
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E2=M,*C2+P2(C?
4. %

Question Number : 57 Question Id : 26449018329 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A round grindstone with moment of inertia 1600 Kgm™ is rotating at angular velocity of 6 ms™.

its rotational kinetic energy will be

= -
Yy
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F e 2 .".b'.-"""; 5 ? | '; &= » AN o £ ;
~e e 0L o5 A6 re alrof Lf.sb/1600 TV ST A (RN L".sa;.d:’
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Options :
288017

2881J

56000 7T

28800 J
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Kepler’s third law 1s known as

-

L ¥
e f Al
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" . . u" ol

'\!._d‘

Options :

Law of orbits

-
l-l‘-l

el Tl
1. ®

Law of areas
\.:,l_.?.l L? KL,I;LL-

2. ®

Law of periods

yfgﬁhﬂ
3.¢

Law of motion
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The Time period of simple harmonic wave represented by v=sin(2mt +1/4) is
e e E’:Hdr‘zfa}b*j Usbe y=sin(2wt+1/4)

Options :

8
1. ®

el o)

LKA FI 8
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The total energy of particle executing simple harmonic motion 1s equal to at extreme positions
and equal to at mean position.
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Kinetic energy. Potential energy

i e ~4. % -
s AL e ALY

1. %
Potemial energy. Kinetic energy
e
=oAL 30T
2.¢ '
Potential energy. potential energy
Ty ‘ i - l: + el
afJEJH ~:+.rJl,u:Lf.~
3. %
Kinetic energy, Kinetic energy
r’J ‘1; Y y
[y L; 4 I'!u-v-/.l E I.L
4. %
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The Fourier theorem can be applied to a function which should have the following condition

3 i & F por -
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Infinite
7l

Periodic

Discontinuous

Jd

Non-periodic

u n,-"

4,
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A tuning fork 1s a

e 5

Options :

Bar fixed at one end

P

-4“-;' Fag
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Bar fixed at both ends

e H
b/ P Lol Lo ) o

Bar fixed at middle

T ]
L/ / @ LL’g_,f: G

3. %
Bar free at both ends

* - ¥
Colboal e (s~ ) ¥es
4.9 T
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Frequency of Oscillatory circuit in piezo electric generators circuit is :
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- A -
. | f,: Mot 1"” E e ’ L .
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Options :

1
2mVLC
1.
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1 e

2mn L
3. %

1 |l'_

—VLC

2115”
4. %
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If the frequency of driving force is the frequency of oscillation, resonance occurs.
k] e . R T e - 8 (- ot
e Ol sl x e SR b SO b /|
Options :

Greater than

‘I.
| W T F
-

Equal to

Cals
2.¢

Lesser than

(a2
3. %

48/127



7/14/22, 4:20 PM

No relation
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Ultrasonic waves are produced by making use of the

il
LU e lA

Options :

diamagnetic

|
U b

£

L

Paramagnetic

l
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i lef:

Piezoelectric
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Non-magnetic

Question Number : 66 Question Id : 26449018338 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The average distance between two adjacent heaps gives of ultrasonic waves.
2 4 (U2 B U o6 sl A B s 2 50
-f-li‘—- o blh_,z LR v - L,-h A U-/f:r- A
Options :

Wavelength

¥ a Lk

Wavelength

2 X Wavelength

Lt x2

50/127



7/14/22, 4:20 PM

4 X Wavelength

.

!.'-"Jv? Y X 4
4, =
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The power of the concave lens of focal length 25¢m is

-
ol

Cur e Q",.fj_/’::”L': JPS 25

Options :

4D
1L¢

4D
-0.4D

0.4D
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When a point object 1s situated just off the axis. the aberration formed is called

. - -
G AP o i fat i ® g
b LV, u-{?iﬁ.ﬂyfb'3.:"!:'&,5/':-;-#.’?4]-';"{'” Of

Options :
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Spherical Aberration
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FE r"
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—

Astigmatism
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3. %

Distortion
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]
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The optical fibers depend on the following principle
0 W et AL Fad g
'”Ihf'-: ._,.-'.—TH-.?’;-{H _—u; .-i—"-_nr\.,.-.“,""l?‘
Options :

Interference

Refraction

e
3. %

Total internal retlection
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If a charged particle 1s moving perpendicular to a magnetic tield. then its path is

- e

P ” G _F,J.]-:"_ . -
1 B e b ) e S 7 1B (a5 B 3 Ry
—_— - k Eil Ll

F;

Options :
Circular

F
Qs

1. ¢

Elliptical

S
2. %

Straight line

- e )

/’“;_,5

| ==

3. %

Parabola
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Which of the following is not an optically active substance?

Options :
Sugar solution

J#gf

1. ®

water

Tourmaline

r.u‘. b
i ll.“'-JJ
4. %
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The radius of the dark ring in Newton's ring system in reflected light 1s

F G i B L EE L S

Options :

Proportional to the square root of the wave length used.

ol | O i | If'j' - |- kL3 M
LC Akl J3E1ni e 1e by -0

1.
directly proportional to the order of the ring
= if ey F- e Py
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2. % i ' )
directly proportional to the radius of curvature of the lens
gl . - - |f - e P
I el ke Vi o))
3. '

directly proportional to the wavelength of light used
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s Y e e !J.’.U-"J S
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The principle of Michelson interferometer is based upon the interference of light by the

division of

Options :
Phase

1 . ﬂ“:.f

Speed of light

e
o
A

) % v"fuﬁ"

Distance

3. %

Amplitude

LU
il

4
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The average velocity of molecule 1s

s IJ- [
s e JL’J‘E‘!TQJ v
Options :
3RT
M
1. ¢
3KT
M
2. %
8KT
M
3. %
8KT
M
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Entropy of the system in a reversible process

T RN . W
3Rl e O
- e

-

Options :
Increases
- “J:
-1,
L&

Decreases

Remains constant

'

< S/
3. ¢
None
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A quarter wave plate introduces a path difference of between the ordinary and extra-

ordinary ray

; : 5
B ST i K | S W ' 5 [ g T PO o
s JI!,,#.._J.JLL‘:;:_ . r»..—,;""—' ;iJUHL"""“;"V L h:yﬂl .'f'”!"": s &;{{‘GL{’; .__.-'...‘!

Options :
wavelength/4
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wavelength/2

LeJd
2

wavelength
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-r. 4
o » o~

2 X wavelength

LY x 2

Question Number : 77 Question Id : 26449018349 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

60/127



7/14/22, 4:20 PM

Which of the following conditions must be reached for the occurrence of stimulated emission
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My

Options :
more number of atoms in ground state

sold s et e leF
1. %

more number of atoms in excited state

- )
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Al i ra s e ey

2.

more number of atoms in the metastable state

“ N . A
Aor iU s ..".-rjl.r(‘ e
3. %

less number of atoms in excited state
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e
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The mean free path of a gas molecule is inversely proportional to
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w y e i
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Options :

square of the molecular diameter

square root of the molecular diameter

|
-
Ly

e Y P i
o RS Y
2.

molecular diameter

/g,?uc‘l L.

3. %

tourth power of the molecular diameter.
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Zeroth Law of thermodynamics gives the concept of

- ?J‘I.H:;J?& ; 6{ :ﬁé‘E,;]'ﬂ E,h:-f *L:‘Il;'-:-f?

Options :
Enthalpy

JFH

e
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Entropy

Heat

P Y o
3. %

Temperature

-::::H
4.4 ¥
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The entropy of the system decreases in which of the following processes?
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g e ¥ ek b RE .
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Options :

Melting of Ice

t'L{“: {l‘.‘:—-"':Jl-'Ill
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Boiling of water

Ci UL

2. 8

Solidification of water

Evaporation of Water

- L
—

- =|""‘
F - 5

P
o T
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The temperature at which Joule-Thomson effect is zero and changes sign 1s known as —

- "1."# 'I-‘J 1= ( L g Y r+ A T -'-"A": -’.} 1
~ & s rlle(s0 Ausa Uy 22180 @-Jf:‘,;;u gL T Y

Options :

Temperature of inversion
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Critical temperature
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b
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Boyle temperature
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Joule temperature
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The expression which relates the two specific heats of gas 1s

4

R
el e U700 SR ol

- e -

Options :

Cp-Cv=R
1.¢

Cp+Cv=R
2. %
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Cp=Cv

3. %

Cp/Cv=R
4, %
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The dimensional formula for the coefficient of thermal conductivity is

L. ...-_ ra | I""" -7 “"‘_ I.H rd
bl L b Nz

Options :

[ MLT381]
1.

[ MT367]
[ MLT&]

[ MLT]
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The surface temperature of the Sun is

by 4t
o
[
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e ';"i.‘:*,-f;",.f_ (Vi Gl
Options :

4000K
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6000K
2.¢

2000K

000K
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The electrostatic force between the two charges of magnitude 2 C and -1 C separated by

a distance of 1m 1n air 1s
o “

F-:j.l 5.'-"1? i '_.'{ i i = E | s "';Z,Jﬁ het (o 7 A o T
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18x101° N
1. %

18 N

18x10° N

3.¢

18x 10°N

Question Number : 86 Question Id : 26449018358 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Electric potential at all points on the surface of a conductor 1s

- ™ by
. - r gzr = "i-ul
o 0 Yr Bl LS
Options :
same
Fl
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. Ol
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Ze10

Infinity

il
el
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The value of the coefficient of coupling lies between

| - Fa Fa
! - e~ L] | = ""' # -~
- Onplrnd = O L0
Options :
1 and 0
0 s 1
1. ¢
—1land 0
0 2 =1
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4.

Question Number : 88 Question Id : 26449018360 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Quality factors of LCR, ac circuit, Q 1s

J‘.fd;f*."/ Q <~»ac <LCR

—1 and 1
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1 (L

R~ G
4.9
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The relation between emitter current amplification factor (¢) and base current amplification

factor (B) is

Options :
o=
P=i
1. ¢
1+
=
2. %
1—ox
b=
3. %
o
B e

=38 (B A e DHa(o) S
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Question Number : 90 Question Id : 26449018362 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

It A and B are two variables then A + B=

= A+B LS B sl AL
Options :

A4+B

AB

AB

A
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If the orbital quantum number [=3. the possible values of my are
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Nuclear torce 1s

[y =ms JEK
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spin independent only
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both electric charge and spin independent

PN I
U Y W s y l_. )./

2. ® '

spin dependent but electric charge independent

=
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N0~ A= PV

electric charge dependent

o =
Lo
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The total probability of finding a particle m the entire space =

- o P 20 K R Lo g P
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Options :
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Infinity
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1no1l Zero
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In Raman spectra. the lines having wavelength greater than that of incident wavelength
arecalled
Pl *
--;-(*- ’ i”}.’,, Ifd ‘d.J’}LI-—'U“l‘U)’l’U’.U"_’ G o
Options :
Stokes lines
L S
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anti-Stokes lines

L
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scattering lines
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The nucleus 1s stable if the binding energy is
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large
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When a particle 1s in one dimensional box, then energy of the particle 1s
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Options :
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nZa?

amh?

nin?

~

amaa?

nZp2

2
4 8ma
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When ano-decay takes place. the nucleus of an atom decreases by

Options :

Atomic number 2 and mass number 4

4 160 2 168 s R
1. ¢

Atomic number 4 and mass number 2

—
|

b b -
2l 4 1R
2. ®
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Atomic number 1 and mass number 2

s

ol
2 sufmis 1 sebes

3. %
Atomic number 2 and mass number 1
il "
1260700 2 3615
4. %

Question Number : 98 Question Id : 26449018370 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The dimensions of the Poynting vector are

- ol H“‘J.’! ﬁ;‘ i
- s WD ety
Options :

Energy x time X area

..;"'J X .:..-.:-"! X ._;L".!‘T
1. %

Area/energy X time

i
Ll

Lty

(-_l "y

=
2. %
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Energy/(area x time)

< -
1154
ﬂ‘:. x "_.l"
I
3.9 i

Volume x energy/area

Lo 4
J'-:I:f' X

ELl

oy,

*

Question Number : 99 Question Id : 26449018371 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a circuit containing pure inductor

* £’|._

Options :
Current lags behind the voltage by 90°

=]
- v _
o bleasZr 900 = Sner -
. L ad L"'I
1. &
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Current leads the voltage by 90°

. 5 -
-.-.'..L“:,-i' A0° = Dl s
2. %

Voltage lags behind the current by 90°

- .,J
...a.h.-h H.,Jﬁi 21§ L ”‘r,_,;“
3. %

Voltage leads the current by 180°

(& J-r
“ --t.-—-L Ji—-l QDE i'-_--k--'./"
4.

Question Number : 100 Question Id : 26449018372 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Meissner effect. in the superconducting state a material behaves as.

Gl AL Lt e e d e dar 1 YL 2 Meissner
Options :

Paramagnetic

5 e t-:"..z:‘.‘r_
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Diamagnetic
u - ;.;&-L‘ [
2.9
Ferromagnetic
Pz 3
S 1/
3. %
Ferrimagnetic
_,nb i s
u-u ;_g,‘w' :
4. %
Chemistry
Section Id : 264490604
Section Number : 5
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 101 Question Id : 26449018373 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

82/127



7/14/22, 4:20 PM
Diborane on hydrolysis gives?
- il = — 1-""' = 4
;'.E'}‘:'uwb{,i..f O AN L1015

Options :

% BsN3Hs

BC3
2. %

H;BO
3 3 3

HBO:?
4, %

Question Number : 102 Question Id : 26449018374 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of sigma and Pi1 bonds present in ClO4 ion

ISl sz § U U1 ClO4
Options :

do&dm
1. %

do&2m
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4g&3m
3. ¢

J0&2T

Question Number : 103 Question Id : 26449018375 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which 1s an amphoteric Oxide
Options :

SO2

Question Number : 104 Question Id : 26449018376 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The example of pseudo-halogen compound 1s
Jed o A r N

Options :

(Cyanogen

s
1. v

chlorine

o, s

-

bromine

s

Question Number : 105 Question Id : 26449018377 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Total number of valance electrons present in Mn (CO)s of metal carbonyl complex is

- i kg "...__;_ T - -"___, o " ';.
s FEuiAZS Mn (COpL ¥ S ess dis

Options :

18 electrons

1718

17 electrons

L AT

16 electrons

u’";",’fﬁ 16

3. %

15 electrons

.'...a;lfj'ﬂ; 15

4. %

Question Number : 106 Question Id : 26449018378 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Howmany bridging CO molecules are there in Fe3(CO)12
6 (T ok ! F .
— G CO 0 Fea(CO)iz2
Options :

1.ggl

Question Number : 107 Question Id : 26449018379 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is most stable free radical?

Al e Pk e U:{J:j

Options :

O
@ CHy

2. ¢
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Question Number : 108 Question Id : 26449018380 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In carbenes. singlet carbon atom believed to have
e P an KT
Options :

sp hybridization

=t¥ sp

1. ®

sp” hybridization

=+ g p=

.

2.¢

sp> hybridization

o
:J;-J’.sl' S p3
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sp°d hybridization

ke sp3d

4. %

Question Number : 109 Question Id : 26449018381 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The electrophilic addition of carbon-carbon double bond leads to

_;:'_I.:'lfv;f..._.i/" u'/r""dy.u.-_ﬂ.i L&I_L’G:}JJ/EEIAEE_,?J;MK_@DK

Options :

More stable

K[?/:U
2

1.¥

less stable

®

2.
least stable
it
3. %

type of intermediate.
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none of the above

.r"?;-'ir’l“'u_u

e W

Question Number : 110 Question Id : 26449018382 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the strongest base?
e UL A

Options :

O

1. ¢

e
= NH

—

-
=
M

3. %
4

Question Number : 111 Question Id : 26449018383 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The most strained cyclo alkane 1s
II.-"'
el

e I Ui e

Options :

Cyclobutane

c,"sfréf'l.ﬂ
1. %

Cyclopropane

Ok L;rg s

2.
Cyclohexane
3. %
Cvclopentane
L-,f"*‘zygf -
4. %

Question Number : 112 Question Id : 26449018384 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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A pair of stereoisomers which are not mirror images of each other are called
o i - F & el O e

L,{Ed..llf'ajé,ﬂu'ﬁ(fr;:!u :*_./_u..f:!ﬁ}ﬁa:u -t/ r‘ﬂ}{ﬂ

Options :

Enantiomers

% J

Diastereomers

- | ek
) & VS LT

Metamers

b

Racemates

Question Number : 113 Question Id : 26449018385 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Among the following the highest resonance energy heterocyclic 1s

- P s o - = =
_q:_dﬁgd;dilféquk};gu‘fu’z? _fé"bjﬁf‘a,!,rﬁutj
Options :

Furan

o) (s

Thiophene

- e

Pyrrole
3 8 VR

All are equal

e skl

Question Number : 114 Question Id : 26449018386 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The catalyst used in Friedel craft’s acylation 1s
- = = 4 i i &
ST B AT e S i)

Options :
Acid chloride

iKE 7

benzene

2. %

Anhydrous aluminum trichloride

;':&_F"U:b/{}!fl{; oasl
3. ¢

carbon tetrachloride

+
WS

Question Number : 115 Question Id : 26449018387 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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In crystal system, 1ons are displaced from its regular position to interstitial position 1s
L4 e iy s - - x e 0
—e bl Jf Kl el Pre cHor s ;_,,;..-_-,Im’ufmuf,ﬂwa"
& - - i

Options :
Frenkel defect

S

1.¢

Schottky defect

FFe
2. %
Line defect
S
3. %
Edge defect
4 U'E'EJ EIL.JU"f

Question Number : 116 Question Id : 26449018388 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In Bragg’s equation for diffraction of X-rays ‘n’ represents
-—bsqe N a_'f':Lf-.'__r',{V':_?I_ﬁzfib'fu*-..'l
Options :

The number of mole

. e d?'l

1.
Quantum number
;_; -
5 % K [
The order of diffraction
._M:K_EF/-’J"
3. ¢
Avogadro Number
:ﬁui!ﬁ{l
4. %

Question Number : 117 Question Id : 26449018389 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For one mole of a gas. the ideal gas equation is

enaduiel LA
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Options :

PV=1/2RT

PV=5/2 RT
4. %

Question Number : 118 Question Id : 26449018390 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The average kinetic energy of the gas molecules is

s r
SIS 7 b e 57
Options :

Inversely proportional to its absolute temperature

If ?‘Hk}b I". I .- o r'L-;JI
—)* -y f:.:'_dﬂ.__..u"l.*;_,, v
1. %

971127



7/14/22, 4:20 PM

Directly proportional to its absolute temperature

L 2y - i i
i:[_,f; u*m’ igrfq:.hd!f.,-«"b' Ay

2.¢

Equal to the square of 1ts absolute temperature

ﬁ;dﬁﬁjbﬂi;j@;’ip’-ﬁ yﬂiJl
3. %

Directly proportional to the square root of its absolute temperature

et tF el Y it E L

4. %

Question Number : 119 Question Id : 26449018391 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Predict the products in the following reaction.

S pdS eIl s

/_/ +  Bn HC—OH AL B A&BIs
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Brx H3GD o
- <
: Br Br
1.
Br HO 4
/ & _{\
:“ Br /' oH
2. %
Br\)_ < HsCO
!/ OCH, OCH,4
3. %
B, H5CO
/ :Br OCH
4, %

Question Number : 120 Question Id : 26449018392 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following under goes addition of bromine easily?

P v IS0 (E1L (1) {PY T VP P 8 &

Options :
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Question Number : 121 Question Id : 26449018393 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following has a three-electron bond?
Se bl i K i

Options :

NO
1. ¢

CO

2. %
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N2

Question Number : 122 Question Id : 26449018394 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many grams of glucose are present in 100 ml of 0.1 M solution?

] -1 -;| o 'fq i ﬁn"j i-‘.___l L.
(e QS idsfr /& U2 U 5100 i 0.1 M
Options :
36¢g
1. %
180 g
2. %
1.8g
3.¢
18 g
4, %

Question Number : 123 Question Id : 26449018395 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Milk 1s an example of

& o
-.:L.'.ull.f..&fu___m:_s:

Options :
Sol
e

1. %
gel
S

2. %
emulsion

-5

L -

3. %

true solution

JFE

4o

Question Number : 124 Question Id : 26449018396 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In an adsorption process unimolecular layer 1s formed. It 1s
_.;*_____-ﬁq*_ﬁt:;{bgb*.guf,&fuwj
Options :
Physical adsorption

k-f.,fb
1. ®

Chemical adsorption

a4
2.

Ion-exchange

LIy,
3. %

Chromatographic analysis

} C Ak

4.

Question Number : 125 Question Id : 26449018397 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The LCAO calculation shows that greater the overlap of the two combining atoms the energy 1s

[ -

y Tig o il LT
Chle OWIba L a8 bl of LCAD
Options :

Increased

ﬁ'-i.;mf{

1. %
decreased
o
2.%
not changed
- S
null
4. %

Question Number : 126 Question Id : 26449018398 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The bond order of Beryllium molecule is
. |
;J:KA&JJV,A_,G
Options :

1

1. %

-3

LS

4. 0

Question Number : 127 Question Id : 26449018399 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Huckel rule of aromaticity is

-L,:(L:'JTF)LJJJ;%E/L;;LEL_!J’

b

Options :

An 7 electrons

h.f"ﬂl'_,,:'u’ an T
1. %

105/127



7/14/22, 4:20 PM

(4n+ 2) n electrons

A (@n+2)m
2 ¢

(4n+4) n electrons

_.-'I 5 II--l’-I
[

(4n+d)m

A

3. %

(n+ 2) m electrons

Jag
A (nE2)m

Question Number : 128 Question Id : 26449018400 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pyridine reacts with a mixture of HNO3 and H2SOg4 at 300°C to give

et Ml gL e e HaS0u 4 HNOs "ok 300°C
Options :
1- Nitro pyridine

% ;;:%;U";.-,;: t-1
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2- Nitro pyridine
o A0k w02

2. %

3- Nitro pyridine

2 ¥, bt
G A3

3.¢

4- Nitro pyridine
ok 1: [
L hibysflea

4. %

Question Number : 129 Question Id : 26449018401 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is Bayer’s reagent
e V> Bayer's

Options :
Alkaline KMnOg4

KMnOa4 uﬁ

1.
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2. 4-Dinitrophenyl hydrazine

Copper acetate/ acetic acid

- Y " E |
fg’-—#‘;,f“lfu::fflxlg
3. % i

Ammomiacal AgNO3

AgNOQOs3 s
4. %

Question Number : 130 Question Id : 26449018402 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Paramagnetic nature of oxygen is best explained by

i~
v”l

e o™ 2 L1 S 2t 357 B S

Options :

Valency Bond Theory

1. % S
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Molecular Orbital Theory

el JegL

Hybridization

=k

3. % "

WValency shell electron Pair repulsion Theory

S U%Jﬁ*w'}g 'L-E s

4. %

Question Number : 131 Question Id : 26449018403 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among the following which metal carbonyls. the CO bond order is lowest

= . . ." : -'lu - q
P .r'*.g’J?{,H: cCO ._.-:-;.;h-‘:-"- ,_}i,;s:_,r'.-'_.ut:

Options :

[V(CO)6]™
1.¥

[Fe(CO)s]
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[Cr(CO)¢]
[Mn(CO)g]™

Question Number : 132 Question Id : 26449018404 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an amorphous solid?
L ] b
SR d‘w AP

Options :
Graphite

,.hf’libf

1. ®

Quartz glass

> Jﬁo}}!.!r’

2.
Chrome alum
lj'ﬁ (" J_fr

3. %
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Silicon carbide

A EEL

Question Number : 133 Question Id : 26449018405 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The atomic number beyond 92 are called
i e | 2
- Ulldo o s Ll 02
Options :
Uranium elements
fﬂti|$"‘£
1. %

transuranium alements

S E TN
2.¢

non-radiative elements

S S

3. %
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transition metals

ALF St

Question Number : 134 Question Id : 26449018406 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following halogen compound used as antiseptic?
‘-’;ﬂ.‘.t‘.rfJLJ"F..'JJ;’fCi!u:J’;'._Jf/pgerfu':rKJjJ

Options :

Chlorotorm

% @ .!JJK

1. ®

Iodoform

B3y
2. ¢

carbon tetrachloride

3 % ,fkfb!b/';:’fuﬁ;g‘
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methylene chloride

.ifufu:‘m"
. x

Question Number : 135 Question Id : 26449018407 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The halide compound which is most reactive towards nucleophilic substitution reaction 1s
. 'r - . _!" & :'/ I_; r —hﬁ,{ *
e L P L _,-',QL_«L@; e &

Options :

Chlorobenzene

e/ }l'iurg

Vinyl halide

oSl

Allvl halide

U
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Iodobenzene
s

4. %

Question Number : 136 Question Id : 26449018408 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Luca’s reagent is a mixture of

"‘T_E.;’fr"'g 1 ,'_,;rfL,PLi—'*l_f Ky

Options :
Zn+ HCI
1.¢
/n + HBr
2. %
Pd + HCl
3. %
Zn + HCl +Hg
4. %

Question Number : 137 Question Id : 26449018409 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Phenol is a stronger acid than

JeLuie 2756006

Options :
Nitrophenol
| S
Cresol
s/
2. ¢
Resorcinol
JE*'J!" A
3. %

Carboxvlic acid

2208

4.%

Question Number : 138 Question Id : 26449018410 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is formed in the Bayer-Villager oxidation ?

-t ot G s
Options :

Amines

..r"'!
UH

Esters

ol

2.

Ketones

*
i

3. %
Aldehydes

JAASAT
4. %

Question Number : 139 Question Id : 26449018411 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which one of the following 1s most basic nature
L] & . * I'-’ -
~e el Uil oy VCJ;
Options :

m-Nitro aniline

;_:,r:"hh “iem

1.¢

o- Nitroaniline

m’.’L |_!f-f':L'«D
2. %

p- Nitroaniline

dinitroaniline
Y i
L}:'LU_!;' Lot
4. %

Question Number : 140 Question Id : 26449018412 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Malonic ester reacts with urea in presence of POCl3 to give

=

2 AMEFGE R S b end POCEH

-t
oo Ve

Options :

Veronal

JU.!/"J

1. ®

Barbituric acid

_ 270 2 v

Luminal

Jozs
3. %

Parabonic acid

27 Ll
4. %

Question Number : 141 Question Id : 26449018413 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of following does not obey the EAN rule?

-

i - ! & e S - H
?t‘;‘,ﬁ'ﬁ:kkﬂ &40 EAN eiuss
Options :
ky[Fe(CN)gl

k3[Fe(CN)g]
2.¢

[Co (NH3)6]Cl3

3. %

Ni(C0),

Question Number : 142 Question Id : 26449018414 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The IR stretching frequencies of RC=N is found in which region (in cm™)
. _ﬁ_ . Vil o T| <l § =
- Lol s L i a2l IR ¢ RC=N

Options :

2300 - 2100
1. ¢
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12500 — 1400
2. %
- 3590 — 9420
2650 -2950
4. %

Question Number : 143 Question Id : 26449018415 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On Increasing the dilute solution. the specific conductance

ol sl e § IS Bk s/ ¥

Options :

Zero

Y 4

1. #
Increase

f
6 P
2. %
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Decrease

5

3.

Remains Constant

Lafc.‘-afﬁ:'“’
4. % 7

Question Number : 144 Question Id : 26449018416 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two solutions with equal Osmotic pressure are called
LELLI{*L'#:;;’_.!:&;EL.J;_;JJ:L,'}'{'L#:
Options :

Isotonic solutions

JF LT
\-_,4";

1.
Hypertonic solutions

J¥ 64,

2. 8

121127



7/14/22, 4:20 PM

Hypotonic solutions

J¥ I

Normal solutions

L% d!gd‘;t

Question Number : 145 Question Id : 26449018417 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The emf of a galvanic cell is determined using a

Options :
Potentiometer

'k“a};
1. =

Voltameter

E;.._"./'J_a

2. %
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Coulometer

syl

3. %

Ammeter

-
g
4. % °F

Question Number : 146 Question Id : 26449018418 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following will decompose on passing electric current?
= i — -
¢l Lo 2B e 0 s 8 ol
-d»:_,l?,-’:y.::_.u (o} UJ_:.:?A..,;!J Q0
Options :

Glucose
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Silver nitrate

I
3 -_".-:,z.-'bi.:):]"

Ethyl alcohol

ol sy
4 %

Question Number : 147 Question Id : 26449018419 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phase Rule states

RO O
Options :

F+P =C-2
1. %

F+P=C+2
2.9

B2 =10
3. %

F+PHI=2
4, %
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Question Number : 148 Question Id : 26449018420 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

, . RT L. e .
The Nernst equation E = E? — == [n0 indicates that the equilibrium constant K¢ will be equal to
q == q q

Q when
_._.:#L;s,z;_ Q ;j,_;,&;f,:[g:’; Kc ,L'rf:-"éjl;tﬁ' = " ——r' 411 P AT
Options :

=
1. #

E° =1
2. %

E=0
3.9

RT

L
4. % "

Question Number : 149 Question Id : 26449018421 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A reaction in which all reactants are in the same phase 1s called

P 2" SR, > S NG SN SO TNV G PO 1

Options :
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Elementary

S
1. %

Bimolecular

UJLI,U

HDIHDgE‘IlEDHE’-

S

3.¢

Heterogeneous

JE S
4 %

Question Number : 150 Question Id : 26449018422 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrhenius theory 1s applicable only to

= ;:?L!-bf[_,-lfl?é_!.. L 13;5: Er/g_)";",rl

Options :
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Weak electrolyte

L2 0rn)
1LY

Strong electrolyte

2P

Non electrolyte

B0 A

Botha &b

.;,,'1;',!_& b . a
4. %
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